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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Jane was terribly bored, but she --———-—- interest so as not to hurt her friend’s feelings.
1) admitted 2) validated 3) endeavored 4) feigned

2- Having a ---===a=-- knowledge of economics, I did not understand anything out of the
speaker's speech.
1) rudimentary 2) superfluous 3) hazardous 4) clandestine

3- In the hands of inexperienced drivers, high-powered cars are actually --——- ---
weapons. _
1) inflexible 2) lethal 3) regretful 4) spontaneous

4- The many -----===-- in the text for sure detract from its real value.
1) safeguards 2) variables 3) digressions 4) consistencies

5- The human brain is well known to differ considerably from the chimpanzee brain in
--------- of size, organization and complexity, among other traits.

1) light 2) regards 3) terms 4) aspect

6- Irrigation is essential to most high-yield farming, but many aquifers that supply
irrigated crops are being drawn down faster than rain can ---- them.
1) deplete 2) overcome 3) vanish 4) recharge

7- It is a pity that he --—---—- between the two neighboring countries is well rooted and
hard to remove.
1) misanthropy 2) antipathy 3) urgency 4) vagueness

8- Hair that's thick and -————— needs regular trimming,
1) luxuriant 2) arbitrary 3) excessive 4) fragmented

9- Their lack of qualifications ------e-e- them to a lifetime of boring, usually poorly-paid,
work.
1) devoted 2) conveyed 3) condemned 4) captivated

10-The --—-—--—--—-— of differences among cultures clearly shows that mental health

professionals are ill advised to apply their classifications of personality disorders to
people from other cultures.
1) dispersal 2) disarray 3) ignorance 4) multitude

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The Olympic stadium was silent. The spectators held their collective breath. The 100-meter

finalists, crouched against their starting blocks, (11) ----—-— their backs as the starter raised
his pistol and announced. “Set... ! Each powerful sprinter, poised to explode when the gun
wenl ofl, was keenly aware ol what hung in the balance. They had trained (12) ---------- every

day for vears to prepare their bodies for this one race.
But had they disciplined their minds? The runner who would break the tape would need

(13) --=------- strong muscles. heart and lungs, He would need concentration. control,
confidence—and an unerring eyve (14) -------——-. At this tense moment, one nustimed twitch
could cause a false start and cost him the race. But if he eased off in any way. his first steps
would lag behind (15) -------—-, guaranteeing a loss. “Bang!™
11- 1) they raised 2) raising 3) raised 4) by raising
12- 1) and exhausted 2) to exhaustion

3) for being exhaustive 4) exhausting
13- 1) as well as 2) not only

3) more than 4) by far
14-1) to the finishing line 2) to finish the line

3) for the line to tinish 4) on the finish line
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15-1) those of his competitors 2) his competitors
3) what did his competitors 4) the one 1n his competitors

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1:

Remote sensing refers to obtaining information about objects or areas using electromagnetic
radiation without being in direct contact with them. In remote sensing various types of tools
and devices are utilized to make electromagnetic radiation outside this range visible to the
human eve.

Since the first launch of an earth observation satellite. remote sensing is increasingly used to
acquire information about environmental processes such as agricultural crops, land cover.
vegetation dynamics, water quality. urban growth. seabed topography. etc. Remote sensing
helps us to increase our understanding of the ecelogical system of the earth. Remote sensing
helps us to measure the size of the ozone hole in the atmosphere, to notice the differences of
atmospheric ozone concentrations between the southern and northern hemisphere. Remote
sensing is playing a key role in our efforts to understand the complex dynamics of ocean
circulation: the Northern Atlantic Oscillation and to assess their effects on global and regional
¢climates and extreme events. Long-term remote sensing observations of the Sahel region made
us at least partly understand the complex cyelic pattern radar that were developed at that time:
SLAR: side-looking airborne radar and SAR: Synthetic Aperture Radar. Either development
aimed at the acquisition of images at the highest possible resolution. Crucial to the SAR
development was| the ability to finely resolve the Doppler frequencies using a frequency
analysis algorithm on the returning radar signal by the US Air Force research centre.

16- The word "Urban" in the second paragraph means:
[) Country
2) Rural area
3) The area with higher population density
4) The area surrounding cities
17- "Cyclic patterns" can be replaced by:
1) Periodic schemes
2) Plainness diagrams
3) Motifs which are complex to understand
4) Patterns which should be studied more extensively
18- According to the Passage, the critical point in designing SAR is:
1) to be used in remote sensing
2) to develop an aperture for the radar
3) to combat the effect of Doppler frequency
4) to use the Doppler frequency to design a frequency analyzer
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19- According to the Passage, what is the purpose of remote sensing?
1) A method restricted to use radar systems for sensing
2) Making electromagnetic radiations visible to human eyes
3) Analysis of dynamics of ozone concentration in the atmosphere using radars.
4) The use of aerial sensors to detect and classify objects or their alternations
which are mostly on Earth.
20- What does the sentence "Either development aimed at the acquisition of images at
the highest possible resolution." mean?
1) Radar systems are required to acquire the picture of a target.
2) The goal of both SAR and SLAR is to forfeit high resolution pictures.
3) The high resolution pictures have an important role in remote sensing.
4) The high resolution image of every developed radar system might be captured
as a target.

PASSAGE 2:

Renewable energy is generally defined as energy that comes from resources which are
naturally replenished on a human timescale such as sunlight. wind. rain, tides. waves and
geothermal heat. Renewable energy replaces conventional fuels in four distinet areas:
electricity generation. hot water/space heating, motor fuels, and rural (off-grid) energy
services. Renewable energy resources exist over wide geographical areas, in contrast to other
energy sources, which are concentrated in a limited number of countries. Rapid deployment of
renewable energy and energy efficiency is resulting in significant energy security. climate
change mitigation, and economic benefits. In international public opinion surveys. there is
strong support for promoting renewable sources such as solar power and wind power. At the
national level, at least 30 nations around the world already have renewable energy contributing
more than 20 percent of energy supply. National renewable energy markets are projected to
continue to grow strongly in the coming decade and beyond.

21-  The underlined word in the passage can be replaced by:

1) Studies 2) storage 3) Supplies 4) Standards
22- Which one of the following cases is NOT a reason for remewable energy
development?

I) It can be replenished.

2) It can lead to undesirable climate change.

3) It is more reasonable financially.

4) 1t is distributed more evenly throughout the world compared with other types

of recourses.
23- The word "conventional in the third line of the passage can be replaced by?
1) electrical 2) modern 3) solar 4) traditional

24- What is the distinct feature and characteristic of renewable energies”
1) They are not depleted over time.
2) They should be produced synthetically.
3) They cannot be consumed very quickly.
4) They are available only in certain circumstances.
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PASSAGE 3:

Vacuum-channel transistor is the result of a marriage between traditional vacuum-tube
technology and modern semiconductor-fabrication techniques. This curious hybrid combines
the best aspects of vacuum tubes and transistors and can be made as small and as cheap as any
solidstate device. Indeed. making them small is what eliminates the well-known drawbacks of
vacuum tubes.

In a vacuum tube. an electric fAlament is used to heat the cathode sufficiently for it to emit
electrons. This is why vacuum tubes need time to warm up and consume so much power. It is
also the reason they frequently burn out. However, vacuum-channel transistors do not need a
filament or hot cathode. If the device is made small enough. the electric field across it is
sufficient to draw electrons from the source by a process known as field emission. Eliminating
the power-sapping heating element reduces the area each device takes upon a chip and makes
this new kind of transistor energy efficient. Another weak point of tubes is that they must
maintain a high vacuum to avoid collisions between electrons and gas molecules. Under such
low pressure. the electric field causes positive ions generated from the residual gas in a tube to
accelerate and bombard the cathode. creating sharp. nanometer-scale protrusions. which
degrade and. ultimately. destroy it.

These long-standing problems of vacuum electronics are not insurmountable, If the distance
between cathode and anode were less than the average distance an electron travels before
hitting a gas molecule, a distance known as the mean free path. and the working voltage is low
enough, the device can operate just fine at atmospheric pressure. That is, you do not, in fact,
need to maintain any sort of vacuum at all for what is nominally a miniaturized piece of
vacuum electronics.

25- What is the main idea of the above passage?
1) main problems of vacuum e¢lectronics.
2) solutions for drawbacks of vacuum tubes,
3) vacuum-tube technology and its applications.
4) combination of an extinct device with a new technology.
26- Which of the following is NOT stated in the passage as a vacuum tube problem?

1) low longevity. 2) long setup time.
3) high fabrication cost. 4) low energy efficiency.
27- In a vacuum-channel transistor, electrons are drawn from the source by a process
called --—-- .
1) field emission. 2) power-sapping.
3) mean free path. 4) nanometer-scale protrusions.
28- The pronoun "it" in the second paragraph refers to --—-—--—---—---- -
1) tube 2) cathode 3) residual gas 4) electric field
29- The word "insurmountable" in the last paragraph is closest in meaning to -—-—-——,
1) unsolvable 2) inaccessible 3) invaluable 4) unpredictable
30- The word "drawback" in the first paragraph cannot be replaced by ,

1) benefits 2) problems 3) impairments 4) adverse aspects
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